W H -1 2023/5/7 FHE EHER
k=g FH0EI =L — A —=rL
BG4 &M E T TR BRI FLER AT e AmE iy
FEEIEA =5k B R th 44 =4kl R
H 4+ fEE JRITA PAVA 3fr 401 501 6L ht 8{ir
eaesr | sa7H Lo0m =E (4 17.26 (-2.0)|&E K@) 17.42 (-2.0)[#815 FEHR@4) 17.82 (-2.5)[ 1L (&£ (4) 17.99 (-2.5)[ 0k H(4) 18.14 (-2.0)[4hL TTE@) 18.19 (-2.5)[ &2 K#@ 18.47 (-2.0)[FEB ThZE(4) 18.48 (-2.5)
MED1=T MED1=T FIRIL-DA1VTR-C FL-D1VTR-C mgLa=7 MED1=T MED1=T LAV TR-C
SATH 1500m BF &5 5:32.56 (=B R4 5:35.36|#H15 FEIR(4) 6:02.16|)110% #&(4) 6:13.11|5ALL ERA®M) 6:27.83| 4L TTE(4) 6:29.257%% & HAX@4) 6:46.65[7i8 KE4 6:56.61
FRAR—YTHOT47 MED1=T FIRIL-DA1VTR-C WED1=T L1V IR-C WHEDL=T ARVERISIVIFT MED2=T
s | sATH L00m ES #X0G) 14.95 (-1.0)[hJIl 1&(5) 15.62 (-1.0)[=Z# HFA®) 15.72 (-1.0)[# BEAEAG) 15.89 (-1.0)|BE#E TREA(S) 16.26 (-1.0)[t&#E I(5) 16.33 (-1.0)| T4 IE#B(S) 16.42 (-1.5)[i&:8 Z|K(5) 16.49 (-0.5)
RILDOT/NER =&Paz7 =&Paz7 FYXAC RizeAC mgEPa=7 FILEL VY ARC-$iB MED2=T
sa7e | 1500m EE #XE) 511.12|F £ #FHEG) 5:44.17|1kE E(O) 5:47.36| B4t IEHR(S) 5:50.99| KFH {HA(5) 5:52.64 M BEHE(5) 5:53.13|#k BEAEAS) 5:57.56 ;&0 Hisk(5) 5:58.57
RILDOT/NER GR|ERDEIIVYLYTT ARVEIZVIUIFT T ILELYSARC-#i8 FILEL YO ARC-#iB TILEL VS RRC-#i8 Y XAC WES21=T
R | sa7A Loom INFE - E16) 14.76 (-2.0)|#74 B A(6) 15.08 (-0.5)[ZX K [5HH(6) 15.17 (-1.0)[3Lil FEA6) 15.18 (-2.5)|{R#E £(6) 15.25 (-1.0)[f&%1 #A.52(6) 1550 (1.0)|/NE  SRHE(6) 15.58 (-2.0)[KiL 3 Z(6) 15.66 (-1.0)
MED1=T FILELYYARC- R ERT&F L1V TR-C FILELYYZARC- 1L FILEL Y  ARC-$iif ML 2A4UTR-C FILELYYRRC- B R
SATH 1500m wH BAG) 5:1350( {7 Z(6) 51719552 1A#H6) 5:25.15(F EH FW1B(6) 5:25.84| iR E#E(6) 5:32.60|85K FAA(6) 5:33.31({8E & H(6) 5:39.14|FF 2346) 5:40.19
FILELYYZXRC- R FILELYYARC- R =&Paz7 FILEL Y ARC-$ii WED21=T ERVEIZVIIFT MED1=T BRAR—YTHOT47
WES21=7 57.71 | BET&F 1:0051|=&¥a1=7 1:05.69[MNES21=7 1:07.45| 2 ZAFAC 1:0867|=&>a=7 1:12.43
Rk B.ZBI6) INER STE(5) ZH FA®) &% I(5) EH BEHRG) FJIl 1&(5)
ANEIGEBF | 5ATA [ 4x100mR |k F(6) & FNE®6) ML tRiE(6) AR 58(5) & R(05) =8 &AG)
iR EE6) s BEXG6) Al KFE®) LB FRE®) B BiI&G) FaI&8 BAR MI(5)
tEH FEAH6) AR I5H6) B EBI6) A &) w® BRKBAG) 2 B
sarn | el A FI(6) 4.24 (+2.0)| AL 1RiE(6) 3.96 (+1.7)[iE8 BKOG) 3.55 (+1.4)[1k%E T.(5) w3.40 (+3.1) (B )1l E(5) w3.36 (+3.4)[HE+E FH(6) w3.36 (+2.1)[dLiE BIRG5) w332 (+2.1)| K& BEZE((5) w3.19 (+2.2)
WREDAZT =&Paz7 WREYAZT mEL=7 PREDA=T WREDAZT PREDAZT WEDAZT
o 7 5ATH 100m RIF EREQ) 12.02 (-3.0)[iFE #HEKEQ) 12.42 (-3.0)[/hi 12H(3) 12.49 (-3.0)[1L= 4&(3) 12.67 (-3.0)[/NE BIE(3) 12.78 (-3.0)[luO {=3(3) 12.85 (=3.0)|/MIl K #%(3) 13.21 (-3.0)
=% TH¥ K- e Feh =& - Fh RE- 2@ $ RE-fz8+
5H7E 400m #AR BAKEG) 55.39| &5 )1l EH(3) 55.77[/NEHIE EEK(3) 56.06| T2 H&E@3) 56.77|%E)Il EHR(3) 57.30| =8 #%3(3) 57.00|B1E M—@) 58.05| 88 BERG) 58,64
#in-NFP TR| =& ARFF TR|#&- #&h =& -$Emep ME-ALEh ME-ELER =& ¥4 ME-ELEH
5A7R 1500m &F BQ 4:26.90(ZFRk B1=(3) 4:28.16|1kE EAQ) 4:33.97|=/ %$3H@Q3) 4342155 F HFHHQ2) 4:36.25| BTt &) 4:36.81|HIL FHA(2) 4:39.76|F# RiKEQ) 44271
BT ILE LYY ARC TR|¥T - MEH R TR|RIZFAC ME-ELER =&-F—rp RE-fz&% =& X RiE-hz&%
5A7H 2000m =k B0 10:06.79| 5E HHH(2) 10:13.67)/NE &) 10:17.11|F & &D@Q) 10:29.43|L1L fi(2) 10:34.01|E Q) 10:41.62| Bk EQ) 10:54.04| K3l JEHI(3) 11:07.74
win- MEHRD Z&-E— SRt R B ELP - Feh Rt Rt - Fch RHt-mE
sa7e | 11om EAR FHKEG) 15.88 (-1.4)| X\ —#E@Q) 17.00 (-1.4)[8R S %@©) 17.88 (-1.4)[iE:8 —n@) 18.12 (-1.4)|h#k BEREQ) 18.39 (-1.4)[ES &F#HEQ) 18.76 (1.4)|E+E EAE® 18.91 (-0.8)[[® ZHRIE®M) 18.98 (-1.4)
Rt RHeh TR|# & /N TR| i/ =& =&-Ems Rt Rt =& % = L
e - e rp 46.69(=5-FE 4724\ RfE- 2z &F 48.12| K- 2 HA 48.39|Frik - Vg R 4841 =5-FE—HA 48.45(F- HEFA 48.48
FH BEQ) ER ZXER) HitE SR1F2) it EHOQ KAR FMHEQ) Al EER) B FBAQ)
5HTH | 4x100mR [/nhig 42RH(3) R AR BEZMNEQ) . NI K#$3) IR EBE®Q) XE —1EQ) JNE BN W REEQ)
A% ABHE®G) HE —&EG) wO HREEG) HIl AR BRE &G 5 HEEG) aa BAG)
INE BRIAQ) LA AB®R) wmE Bz A {Z%0) HE E+0Q) tiE 403) RBH %)
e —— AIEF ABFE(3) 1.55|@H EEA3) 1.50|HE = Ilésli(z) 1.45
e - #erp U XAC BT ILELYIZRC
sATh | i I EEE(®3) w571 (+3.7)[ILE FAABAR) w5.60 (+2.2)[HH Bitk(2) w5.35 (+2.8) (LUK EE(3) w5.02 (+3.2)|ith £ EE(®3) wa.97 (+2.4)[iEE () w472 (+25) (TN HM(2) w471 (+2.1) B (@) w470 (+2.4)
K- 7@ $ Z&-E-% =& ¥ =% THY$ M- -Fis K- ZE R MiE-ELEH =& %=
e T KAR FHEQR) 10.73| KA BEFEQ) 957(HK BH®2) 9.08| Bt FERE(3) 8.98[HEE/ K EK®) 8.80|HA E#A() 795K @AERR) 7.85| K5 BI3) 7.82
i N TR|#E-EHG - IRER hng - g SO RARAC #-HHESP FR-IFih RRA-MBSEG
. ) B EE 11.96 (-1.0[iIA #X 1214 (-1.0)[FIl =& 1217 F1.0)[F) E£8 12.34 (-1.0)|ET =iE 12.52 (-1.0)[/h#k ZTK(2) 12.79 (-1.0)
g HF | 5ATH 100m
RREAC RREAC M _E R KREAC RREAC RHIZRAC
saze | aoom [N BE 5400|F) £ 5421|tE 4K 58.17
FREFTEERR KEAC MHB
K&l B—6) 4:32.03|3R % TR 4:51.56
5A7TH | 1500m
REREX FaTIERER
sirn | sooom | PR 15:09.65
FREERUN
FRX 43.90| RFAC 46.64
e B1EG6) mil EiE
5H7H | 4x100mR |&sk FE=(3) B HER
mhiE fith4) )| £
AR KHE6) IO #hA
sarn | e | B weo1 (43
IRERER
w (wind assist) : JBEZ%E TR2 : 1815 2450 6% TR : @15 @it sk




W H -1 2023/5/7 FHE EHER
k=g FH0EI =L — A —=rL
BG4 &M E T TR BRI FLER AT e AmE iy
FEEIEA =5k B R th 44 =4kl R
KR} :4E JRITA PAVA 3fr 401 501 6L ht 8{ir
eateser | 57 Lo0m RE K4 18.00 (-0.5)| KiE 3R#E(4) 18.47 (-0.5)[ILE% 334 18.60 (-0.5)[IlLA ZE(4) 18.70 (-0.5)[/N#k 4T(4) 20.09 (-0.5)| %K (4 20.38 (-0.5)
MED1=T MED1=T MED1=T FL-D1VTR-C WED1=T L1V TR-C
5A7H 200m A @ 3:26.14|ILER KR4 3:27.43|ILA EE4) 34177\ KB K#@4 3:55.53| & FH(4) 4:00.44
Y ARAC HED1=T FIRIL-DA1VTR-C WED1=T L1V IR-C
skt | saTH Loom AT XH0G) 15.16 (-1.5)[8REE F%O5) 15.59 (-1.5)[##t Z81A(5) 16.01 (-2.5)|7K F2(5) 16.10 (-1.5)[/NEF FHE(5) 16.25 (-1.5)|77 /% #AHK() 16.27 (-1.5)|BEB 9 H(5) 16.52 (-2.5)[/M2 D E{E®5) 16.61 (-1.5)
FRAR—YTHOT47 FRAR—YT7 747 mEoa=7 FILEL Y ARC-$iif T ILELYY ARC-$if ERT&F FILELYY XRC-0JAS TIVEL VY RRC-#i8B
SATH 800m BX £H405) 3:03.13|/MR B EB{E(5) 3:1241[;FK FE©G) 3:16.12(Fh#t BHAG) 3:16.59| (R KE(5) 3:19.06| E+E HI(5) 3:21.07|/N8F FHL(5) 3:21.63| LA FEA®G) 3:25.36
FILELYYARC-BR TIVEL YD ARC-#H FILEL v  ZARC-$iit mEsL=7 T ILELYY ARC-$if L1V TR-C FILEL VY ARC-$iB FILEL Y  ARC-$iif
et LT | 5ATH 100m WA F4£6) 15.13 (-1.0)|dt £ 72D 1%(6) 15.15 (-0.5)|FE Z(6) 15.30 (-1.0)[ & ZEFi(6) 15.32 (-2.0)|h#k FHERZ(6) 15.48 (-1.0)[#xH# ZE/(6) 15.54 (-2.0)|B&/ K MEZ(6) 15.70 (-0.5)[ R R#(6) 16.02 (-0.5)
FILVELYSRRC-FiB FILELYYARC- B =&Paz7 E@AT&F FILEL YO ARC-#iB RHYZRAC REAT&F =£Taz7
SATH 800m xR A6 2:49.48(h#% EHERZ(6) 3:00.55(/ ik FiH(6) 3:02.59#FH EF(6) 3:03.61|db £ ZDI%(6) 3:03.73|38 EF(6) 3:05.04| HEH T##(6) 3:05.86(LLIEH BRAE(6) 3:07.32
FILELYYARC-$iB FILELYYARC-$iB ERT&F 9 ARAC T ILELYY ARC-$if WHEDL=T MED1=T MED2=T
=&Daz7 59.37| RRET&F 1:00.61|MED21=T 1:03.82
FER R4 W #AHkG) +HE FI()
ANEIGELF | BATH [ 4x100mR |44l {EZ(6) A FTR(6) (1) =: s H (A
iR F306) /K MEE(6) BH Th#6)
BME 2(6) =B BF06) £ ZTF6)
sarn | el BE 26 4.16 (+2.0)| /K HEE(6) wa 11 (+4.2)[/h#k Fig(6) w3.72 (+2.9)[E8 HEEE®) w3.34 (+2.5)[F%F T EHEO6) w3.31 (+2.5) |k HZ(6) 3.24 (+2.0)|FEiEiE =F0G) w3.01 (+2.6)[%3E K@4) w2.87 (+3.3)
=&Taz7 GR|EMT&F ERT&F MED1=T BRAR—YT7 9747 L1V TR-C WED1=T MED21=T
T 5A7H Loom = FHQ 1354 (-1.5)(8& Z2k(2) 1407 ((1.5)[ILE #E©2) 14.28 (-1.5)|1&# EEEQ) 1431 -1.5)|ERE DEQR) 14.45 (-1.5)[ILE #HE@3) 1450 (-1.5)[3R3HF Q) 1477 (-1.5)|%B FF©2) 14.94 (-1.5)
e Fh TR2| &M 2@ $ =&-F— Z&-E=d O RRAC - 7% =& ¥4 ME-ELER
5A7H 200m & E%RQ 2759 (-2.6)|1EHE 1HEQ) 28.55 (-2.3)|KE ##II(3) 2859 (-2.6)|EE5R S 1DEQ) 29.11 (-2.6)| Nk ZR#k(2) 29.31 (-2.3)| 71t /NE(3) 29.37 (-2.3)|#5K EBE(Q) 29.72 (-1.5)|3RF KIH(3) 29.83 (-2.3)
K- 7@ $ TR|=%& %= - Ferp FH9ARAC #-HET - #h RE-Fdio =& %=
5A7H 800 = BRIE@ 2:3317(HR  FFIQ) 2:35.35|%5 M #E() 2:38.38|18H H/4E@3) 2:38.70|#A:Z B1E(N) 2:40.00(1hE =#1(2) 2:41.05(1&1L FHEQ) 2:42.47| /B FIHQ) 2:48.82
ARDVEISILI5T - Fh - HEHED e Ferh ARDVEIFILI5T =&-%—% =& -Ems KRE-®itH
5ATH 1500m WE FFEEQ) 5:07.06 (42 BETE(1) 5:08.92| A T&B #EME2) 5:11.89[&i& ZHE©2) 5:12.02[ L% S£41(2) 5:19.95|1#8 M /4 #E(3) 5:23.84(1&1L HEQ) 5:33.86|FEH HiEA(1) 5:39.44
e Fh ARDVEISYLIFT - @S - IRER =& % - =& -Ems REJHSRC
sa76 | 10omu N FTHEG) 16.83 (-0.8)| L% AZE(2) 16.87 (-1.5)[LIL $F(2) 16.98 (-0.8)[FER () 17.04 (-0.8)| 7k BK(@) 17.14 (-0.8)[HE FIRZEEQ) 17.77 1. [ AR B&AHQ2) 17.85 (-0.8)[#2 % ZFMER) 18.97 (-1.7)
win- MEHRD TR|®2ZFAC TR|#E- HHES =& Fe #-HET =&-F—% MiE-ELEH RRA-MBHEG
FHYARAC 52.90 |3 - #Eh 53.79| K [ - 2 FE R 56.74|F3% - H L 57.00(#&- HHEFB 57.04( =% F—HA 57.29|FG3%  IREH 58.32
A MRTHTER) AE M) BiE EQ) N EAQ@) Al Ek(Q2) PE FIRZEQ) XE ZRiEQ2)
S5ATA | 4x100mR |EERE 1) =L EHQ R 5 EBRQ AR BAHQ2) hnEE ZRAK2) HH ££0Q) A D)
B Q) g INE3) &8 EHMQ) ®H FFQ2) HmER Ha03) AE BZE®Q) HE £EQ2)
g A3E(2) IWE HEE() £F BHEEQ) NE HHYE) KIF BHEEG) (HE #2(2) R EF0)
saTh | e WA #r3) 1.30| 7% BXREG) 1.20|lLTF &) 1.20
win- MEHRS - HEF SRt R
T — Hh HE#3) w450 (+2.2)[#xH &FI(1) 4.40 (+1.6)|#@E FiF2) 433 (+1.6)| %R LE(3) 431 (+1.8)| =8 ZEQ) w4.28 (+2.8)[ 1L RIZE(2) 427 (+0.9)| W& £Fi(2) wa.21 (+2.3)[Full FFER(2) 413 (+1.5)
SO ARAC KIZUNA EiE-ALdh - Herp =&- W Y XRAC =& -F—h hnsE- e
e T WiE Q) 9.26( =5 H%(3) 8.36|LLA #EAQ) 1.99|&F EMEEQ) 764|128 HFHEQR) 728 KR 1ZEQ) 14BNl —71EQ) 713|ESH KEQ) 6.76
- R Rt RHteh e e RE-RiLH RME-NSHG RE-Hp2&FH =& AHFH - HHESP
ER et | 5ATHE | EIEE
e & BF 9.79|&F 1 7.92
IREREER IREFEER

w (wind assist) : JBEZ#%

TR2 : W{E24FF0E: TR : 1815 Hamaoss




